CURVE ANALYSIS

Identify what each of the statements indicates about the function.
Where multiple statements are given, provide a conclusion that can

be drawn from the group of statements.

a)
c)
e)

g)

i)

k)

f(10) =0
q'(x) > 0 forx>8
s°(x) <0 forx <9

h'(-3) =0 and K (-3) <O

w/(4) = 0
w/(x) <O0forx <4
w/(x) > 0 for x > 4

a6 =0
a’(x) <0 forx<6
a’ (x) >0 forx>6

b)
d)
£

h)

)

1)

p/(x) <0 for 0 <x<5
r’x)y>0for -2<x <2
g(5) =0 and g(5) >0

v(15) = 0
v (x) >0 for x < 15
Vi(x) <0 for x > 15

m'(3) = 0
m/(x) < 0 for x <3
m'(x) <0 forx >3

b”(12) = 0
b’(x) <0 for x < 12
b”(x) x 0 for-x-> 12

Information is supplied regarding a function f£f.
Provide conclusions that can be drawn from the given information.

Using the information provided,

a)

b)

/D=, ©0=f@=0
f/(x) <O for {x|x<-1,0<x <4,xe R}
f/(x) >0 for {x| -1<x <0, x>4,x € R}

Domainoff {x|x > 2, x € R}
f/(x) > 0for {x|x > 2 x € R}
f(x) <0 for {x|x>2 x e R}
f’(x) is never zero
() is never zero

D=1/ =0

’0)=/@2)=0

f/(x) >0 for {x|-1<x<2,x>2,x e R}
f/(x) <0 for {xlx < -1,x € R}

(1) >0,/(2) =0

(x) >0 for {x|x <0,x> 2, x € R}
f(x) <0 for {x|0<x<2,x € R}

f3)=A-3)=0

f(0) =0

f/(x) >0 for {xlx>3, -3 <x<0,x € R}
f/(x)< 0 for {xlx< -3,0 <x<3,x € R}

sketch a possible graph of y = £ (x).



e)

f)

g)

h)

i)

r'3)=0
’G)=0
f(x) > 0 for {x|x < 3,x € R}
’(x) > 0 for {x|x > 3,x € R}

') =f'(6) = 0

17(0) > 0

17(6) <0

r'(10) =/(2) = 0

f(x) > 0 for {x|x <2,x> 10, x € R}
f’(x) <0 for {x|2 <x <10,x € R}

R—4)=R0)=f4)=0

2= 0)=f(2)=0

') <0 for {x| -2<x<0,0<x<2,xeR)
f'(x) > 0 for {xlx < -=2,x>2,x € R}
(x)>0for {x| -1<x<0,x>1,x € R}
[’(x) <0 for {xlx < -1,0<x < 1,x € R}

') =0
@) =0
f(x) <0 for {x|x < 4,x € R}
f(x) <0 for {x|x > 4,x € R}

f0) =0
’x) >0 forx=0
lim f7() = @

lim f/(x) = -
4 _ltrgj (x)=-x
Jm A = -

Jim fi) = =
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Sketch the graph of the derivative for the relation below.
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